>
~
-

00°008+0 WX
WO'GL "MP WWINQS wasndezid zazeim
wQg'y 1928 WOg'y 'nmmd

|

NS
D
~

. e
N

== ===

05'0¢8+0 W
woo'e P WWQOS waysndezd z Zeim

WGy 1928 WoY'S Mip pzefz loid
__—H
N L ]
(o))
0 1
[ N =
U‘ O’
w0 e
—_ =~

0GB+ WM
~ _uggyezsWoz'e P pzefz foid

wpo'g NP WW0S wajsndezd Z ZeIm

wigg'y 19z WOE'S NP pzefz ‘foxd
7D

00°¢88+0 WY
wQQ'y "Nip WWQ0S
wQQ'z "Jozs wpgY P pzefz ‘foud
3 2

=8
0 T~ ov'seer0w
wQQ'g NP WNQS wa)sndazid z Zeim

WOy J8zS WIpg'e TP PZefz_
//E‘W—KN‘ 2]
|
¥ |
|

X
/D
| NS
DS
S
o o D
\ B N <
o 05'998+
«K

——

e

—OT
00088:0 Wi
wur 0g g emopios exuerzpns ‘o
N
X 3
W
\
X\ . ES)
€ N <
R > S
G2
\ N
———  09'906+0 WM

VAR

[ A RV e Y

woo'g NP WWO0S woysndezad Z Zem

0g'626+0 WY
wQS'y '19Zs W'z P pzefz foud
00'0£6+0 U

wog'y Jozs woo'y Mip pzefz foud

00'956+0 W)
wQQ'o) "Mip WWQOg waysndozid -z Zem
W'y “J9zs woo'y PP O-[ojd !

¢
l

=N LM

W 0y @ eulkzimel EXUBIZDMS “foud

00'GE6+O WA
Wl 00G @ emoves exueizpnis foud

w
<§

N
D
(&)

(o0

00°286+0 UM
wQQ'g Nip WWQos wejsndezid ZZeIm

WGy 1828 WoQ'y ‘MP pzefz foud

I3

69

D
2>
o—k
,,,————"ti
~ J———’ - >
T _ e ™ ES)
<
0'0L640 WM z7a
Wi 005 @ eMpeis ebizps foid
o1\2640 unt
. Conge'y Jozsiipe'e il Pzelz Toud
SIS S
-2 }m
[ ] <§
=
/ -
/,—j:—‘__;_:;;/
—
o
\
RS

T O Bl
UL () h X
<\ I(/
NI =g
|4
[
I \
. Il 0
T
N {
>
o :
@) /')! q
B
L9
N Y/
W= S Ny
9\ A.O\ [ S v
I~ R
=~ s /

Bo'yz0+ u =0 —
wOO'el "MpWOQS Woy ndS21d z Zeam =~
05 18zs WQ'G Nip pzelz

wog'y I8

—
11
M

0! ‘0l0+tw;|
G-y—38ZS WOP'T [ *lou
S LA
(@)
~N
v y]
o .
S DD 00'G20+1 WY
‘g, () wuw ufkzime) e\UBIZPNIS ‘foud
o =\ SSIN
R~ ©o
R 0 00'0E0+k Wigs
W 00g @ emoys! uaizpnis ‘foud
=2
<
(@

'600+ W
wgy-4eZs WA0'E” pzefz ‘foid

06'970+) WX
‘nip pzelz “loxd

I
I
-
,////"Ug‘UQOHW |
p0'g "Nip WWQOS waisndezid Z Zeim |
weg'y Iezs WOy rie-pzeiz Toud :
- \ _ :
I!_____o —
I
|
' W
I (©))
I ~
! Em
3 it <
N ' /
I
— 00'1860+1 UJ)I
| { D) WU QOS @ BMOX3I0$ EXUBIZPIS ‘foud
I
I
le
I
I
3 |
y | |
oS | 22
— (o)) _
—/—%O :§‘03 |:: E S
U-F H | §
0G'Z04+) Uy
wQO‘L | ‘NP WWOO0g wasndezud Z Zeim
Wog'p Jazs woo'y p pzefz Toid = 00'601+1 W
— ; [ : pzefz ‘fod
B E : 3
oy |
o = b _dle--
L/ L
_ S : _ 7T f0zh+) Wi
9 { + B ¢ v D Asen awewetez ffod
U)_\ (@X) i f‘; d \
< SYRt f=S)
ol I < 00'0EL+ 1 U
Eg & W 00y @ Eulkzimel BYueIZp -o:d@
<
[ER B .
M 4 00'gEl+L WY
3 = i W 00S @ BMOXBI0§ ENUBIZPNIS ‘foud 4
T Bl ziieL
'y 1628 WOQ'Z NP pzelz o)
L oot wy | ) | S
wQo'g Mip Wwpgg Weisnd =
s | >
)
't — —©
NS
RS
N
e
)
I | —
/ ~
é
~ 3
> NN
SN
(@4)
m u
3 S~ g ; o = g un|
R N 7 (&) & WQS'p 4ezs WOG'E TP pzelz foid
~ = au 24
TO X | I —
) (@)} ~ : I D:)\j>
EL | 3
< 056 ) &3
wQQ'g "MIP WWO0S wasndszid z zem NG
wog'y sezs WoE'y ip pzefz foud ~ R ‘
LY y 00'06L+1 UM )
:4 R wwog g Mo foud
2/ |
o)
00'G0Z+1 U
woo's "NYp WWOOS waysndazid Z Zem
w o B 1]
q-
0. ||
<
0.30 04.4 R N 5 ? % ]
6 140.9V- > D 1% 3
|\ ==ho ]fa &
- I
o — ki 7|
6 140.50’05 3 =~ _____,—T ———— '1: { 30
- -==-" | [ 1S \
[} |\,\w BN
N 158
(@) i N
|\ 'kl
= \© b
(S I &
Dy O— o
U (- g
~
oo w
00'g ‘TPFUIIQQS waisnda eIM
wWOg'y "1ozs WQg'g [N “foad SN
06'Y "192s WOG'G [MP a NS
L\ T i
N >
=
o feten \_,_
WG rgopuRY _ _ — —
oejnbe | eUEZoZSAZ00 op #0roFeMBRAST f
2 =2
N
[ (o
00'Egz LI 1S SR
wQo'L) "Jezs W'zl P pzelz ‘o) 00'€9g+1 WA
Lo = 50°G 1025 WOO'S nyp aluemozAzyys foud
//—'_,———-—'— : Sl T 8—/-959
wogmuppoRy N < i
200D A - Weell
0 \ b
I~ ) pLg+) W
Wity 1azWOE'E> pzeiz ‘foid
!, o \\ U-
N
(o s
> XN . [
% S
ARk ) Hon
() v HE |
NS \(/ /
AN . LQ'SBZHUD\
< ~ oyr0= D Asexn eweweyez fod
00'063+Llu>\
[ 00G { EMOXeIDS EXUIZpTIS ‘foud
; g e o 00 ’VSZH_UDI
£lzE me |
AL i
e} ogo
(¥} c = b-o
z® 5|5 |2! g %
53l 5g|EM |E7 8 boo S
N- 0 o
;l% 'x ‘E EQZ § 838 g.
g9 = =g 8 P ] S
g |89 ] 5 8 Pol ' .
;.: g 3 8 o |
r
g §-§ % 3 E -2 o 3 T T T T NT N
2f 3 S s 88 ¢ S 3 335353534a3 53 3
o D m. — -— - D= M= 0O (o] T 0
o (] [ -+ —-_— D= O = 2
Ezg S 3§88 3 : % 525282583858 2
(] Q O c 3
s £ = £ % 38c838:c832¢ §
b Y a £ = = s 3 s 0
5 § 5§ 8§ 5§ § 3 583 £ £ 8% 0
- S o 0 € o o -3
msa ©S 3 3 3 2 gg 332'30)3'9-%:% ns o
- ;] 3 5 = put o 2 a8 88 3 88 22 3
g k§ ° x £ £ g S 8- o2z 938z o gz Y
e =255 3 235 $g52igiaggisgs &
5 ’_g o o o o - = b o= € X ot 2T —
o m‘gg;,gg g E = = 3, c B ",!},N.o-mgmc.méﬁ.on ]
B N Fl|gshgs S 5§ § > 5 3 302N BN g 3
=B 3 RN S 5§58 2 2z ®rgsz®zsz g 7
288 N o o @ O e 3 S =
S| B %gééﬁ S > 5 3 ¥ T s 883 3T v g
$ I3 (o] - 0 —. )
5 g 3 33828 3 2832 § § § ¢ &
2 H ssg 2 F§ g5 8 38 §8 g *
= g : S g ¢ s o 3 $ s & g g9
8 o ) 2 S N z Q
by g © b o] T - N o Y]
& c © O © 3 o c
- e Qa o 9 s & =
z £25% S ' o c 3 3
- °5§ b N ®© o 3
'a g o > = c
[7,] [I] 5. [y S
& 3 (<) o
N = 3
N




